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Elements of Genetics
(D-193)

time : Three Hours] [Maximum Marks : 50

Note: This paper is divided into three Sections-A, B and
C. Section-A contains Descriptive Answer
Questions, Section-B contains Short Answer
Questions and Section-C contains Very Short
Answer Questions. Attempt all the sections as
per instructions.
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Section—-A
GUus-J
(Descriptive Answer Questions)
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Nete : This section contains six questions, attempt any
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three questions. Each question carries 10 marks.
Answer must be descriptive, 3 x 10=30
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Describe the role of polyploidy in evolution of
wheat and mustard. o
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Define mutation. Describe the role of mutations in
Crop improvement. hitps://www cesustudy.com
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What do vou understand by multiple alleles?

Describe it with the help of A, B, O blood group in
human being, 10
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Assume that in squashes the difference in fruit
weight between 400 gm. type and a 1000 gm. type
is due to three gene pair AA, BB and (:( :
dominant allele contributing 100 gm to fruit weisht.
In a cross between 400 £m (aabbee) and I{J{]hgm

(AABBCC) type, what would be the phumm-p.; and
genotype of Foand F.2 ’
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Il ﬁﬁ I T W T 400pm Feat g 1000gm.
fébeq:? ST AR ST 7 AA, BB T CC @ e
EXT & 1 9% g} oelfer 100gm %Y T 4
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(0 400gm (aabbec) 3T 1000gm (AABBCC)
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Discuss Mendel's laws of inheritance in brief Which
law do you think is most important and why?
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6~ What are the different kinds of structural changes

of chromosomes? Explain ehy"onc in detail.
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(Short Answer Questions)
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two questions. Each questionsarries 5 marks,

Short answer is required not exceeding 200 words,
2 x5=10
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Write a short note on chemical mutagens. 5
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Write down the contribution of T.H. Morgan in

Genetics. . N 5
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Describe douijle helical structure of DNA. 5
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(Very Short Answer Questions)
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Note: This question contains five parts, all parts are
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-compulsory. There is no internal choice. Each
part carries 2 marks:. 5%x2=10
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